FERRIEtVI —H#HIFEEEHZE (SF6E8A
TEfE nE=s (t)
ms LB L 3 B4F 2,919
IR
4 5IR 4 113
7_'\_9 Bl == 4y ﬁ‘ﬁ% /E“Eﬁﬁ 3
. _ 3EF 9A82H 967
PR 2B (°C) BeRE L 800 LIt
4 5¥F 9A2H 941
NTIT4ILBIZHEATD |NFo4)| 35K | 9A2H 170 200 LT
PRBEH RRE (°C) 2 A0 421 | 9828 175
PHRPO—EiLRER i 35 | 9A2H 3 -
=E (ppm) R 4BF 9828 2 100 AR
EHEERT BEZTH-E-EAHR
AR, HARMES | a1l | R
RICHBLZEVLCAD 4 517 R R =
BREFT-o-FAH o 2 gL 3E4F e B
B3] 4 BiF R R =
BARBDITA A XL VERE
7_‘_‘_@ Bl == Ay *%Hy L/T: %E% | == I%i:%1%é
IEE /,EI]}ELLIE -ﬂiﬁ S| #E%E /E“IE%E% %IEﬁE
BAL A X8 38 | 8A2H 985H 0.02
fE 22 1 UTF
(ng-TEQ/mi)* > 4245 | 8828 | 9858 0.017
X TEQ: A4 ALV HICIFBRALBENH D=0, BLEEROBVIAA XL UICRELELD
BEARPDILERE
7_‘_‘_@ Bl == Ay *%Hy L/T: %E% | == I%i:%1%é
IEE /,EI]}ELLIE -ﬂiﬁ S| #E%E /E“IE%E% %IEﬁE
[EFWLCA  (g/mN) <0.00060( 0.08 LLTF
#BiLkFE  (ppm) _ 1 25 LT
[E e 35 | 8HATH 9A10H
ZHREILW (opm) = A A 59 180 LT
mE LY (ppm) 0.73 30 LI'F
[EFWLCA  (g/mN) <0.00062( 0.08 LLF
#BiLkFE  (ppm) _ 0.58 25 LT
[E e 45 | 8H8H 9A10H
EHREILW (opm) = A A 73] 180 BF
mE LY (ppm) <0.44 30 LI'F




